PERFORMANCE Installation Instructions
H ’ PRODUCTS 6747 Whitestone Road * Gywnn Oak, MD 21207 « (410) 298-4343

FAX: (410) 298-3579 « www.atiracing.com

STUD KIT - SUPERCASE TO BELL
Part #950263

PACKING LIST
[] (6) #951394 7/16-14 x 1/2" X 3/8-24 x 5/8" Stud
[] (6) #952006 3/8-24 Flange Nut
[] (6) #953050 3/8" AN Flat Washer

Packed by:

1. Clean the case holes thoroughly before installing the studs in the case.

2. Using Red Loctite, install 7/16" course thread side of stud into the case with a stud driver or with 2
nuts. Tighten the studs until the threads are flush with the case.

3. Slide the bell over the studs and install one (1) washer and one (1) nut on each stud. Do not use
Loctite! Tighten the six (6) nuts to 35 ft/lb in a criss-cross fashion.

INST. # 950263-1 6/2010



